By Kiyonori KUNISAWA

<u><u><u>i</u></u>. <u>Introduction</u>.</u> Let Xt be an one-dimensional simple Markoff process with a continuous parameter t. Such a process is characterized by the transition probability P(t,y; t',dx), i.e., the conditional probability for $X_t \in dx$ under the condition $X_t = y$ (t'>t). According to the properties of P(t,y;t+ At, dx) in an infinitesimal time interval (t, t+At), this process is generally divided into many cases. These cases have the transition probabilities just matching to an infinitely divisible law or its component-laws in a differential stochatic process. In fact, the case corresponding to Gaussian law is ordinarily called to be continuous, and to the law generated by the convolution of at most infinitely many Poisson laws we obtain a process which is called to be <u>purely discontinuous</u>. The former was discussed by A. Kolmogoroff", A. Khintchine², W. Feller³ and J. L. Doob⁴ and the later by W. Feller⁵ More generally, we get a process corresponding to an infinitely divisible laws, which contains the above two cases. We shall call it a <u>mixed Markoff</u> process. Recently, K. Ito⁴introduced a stochastic integral equation having this process as a solution and showed that it also satisfies a certain stochastic differential equation.

The object of this paper is to derive directly the canonical form of the mixed Markoff process in an infinitesimal time interval from some assumptions on the transition probability.

\$2. Theorem. We lay down the following assumptions (1), (2) and (3). (1) There exists a function $p(t,x, \xi)$ of $(t,x, \xi) \in \mathcal{D}(\mathcal{D} : t, \leq t \leq T, -\infty < x < \infty, -\infty < \xi < x-0, x+0 < \xi < +\infty)$ which for any fixed t and x is non-decreasing over - co < f < x-0 and x+o < (< + ~ and uniformly dominated totally variated over A, i.e., $P(t, x, d_{\xi}(t)x) \equiv M(t, x) \leq A_1$ (1.1)11>0 $(t_0 \leq t \leq T_1 - \infty < x < \infty)$

(1.2)

$$\underbrace{\lim_{t \to t} \frac{1}{t'-t}}_{t'-t} \int_{g \in [2\eta \ge 1]} P(t,x; t', dg(t)x) = \int_{g \ge \eta \ge 1} p(t;x; dg(t)x),$$

$$\underbrace{\lim_{t \to t} \frac{1}{t'-t}}_{t'+t} \int_{g^{2}} P(t;x; t', dg(t)x) = \int_{g \ge \eta \ge 1} p(t;x; dg(t)x),$$

$$\underbrace{\lim_{t \to t} \frac{1}{t'-t}}_{t'+t} \int_{g \ge \eta \ge 0} p(t;x; t', dg(t)x) = \int_{g \ge \eta \ge 0} p(t;x; dg(t)x),$$

$$\underbrace{\lim_{t \to t} \frac{1}{t'-t}}_{t'+t} \int_{g \ge \eta \ge 0} p(t;x; t', dg(t)x) = \int_{g \ge \eta \ge 0} p(t;x; dg(t)x),$$

$$\underbrace{\lim_{t \to t} \frac{1}{t'-t}}_{t'+t} \int_{g \ge \eta \ge 0} p(t;x; t', dg(t)x) = \int_{g \ge \eta \ge 0} p(t;x; dg(t)x),$$

$$\underbrace{\lim_{t \to t} \frac{1}{t'-t}}_{t'+t} \int_{g \ge 0} p(t;x; t', dg(t)x) = \int_{g \ge 0} p(t;x; dg(t)x),$$

$$\underbrace{\lim_{t \to t} \frac{1}{t'-t}}_{t'+t} \int_{g \ge 0} p(t;x; t', dg(t)x) = \int_{g \ge 0} p(t;x; dg(t)x),$$

$$\underbrace{\lim_{t \to t} \frac{1}{t'-t}}_{t'+t} \int_{g \ge 0} p(t;x; t', dg(t)x) = \int_{g \ge 0} p(t;x; dg(t)x),$$

D further

(2) There exists a function
$$\sigma^2(t,x)$$

of t,x (t, $\leq t \leq T$, $-\omega < x < \infty$) and
satisfies

(2.1)
$$\lim_{E \to 0} \lim_{t \to t} \frac{1}{t-t} \int_{-\epsilon}^{t} g^2 P(t,x;t) dg(tx) = \sigma^2(t,x)$$

(2.2) $|\sigma^2(t,x) - \sigma^2(t,y)| \leq B_1 |x-y|$

$$(2.2) \quad | \sigma^{-}(\xi, x) - \sigma^{-}(\xi, y) | \leq p_1 | x - y$$

and

 $|\sigma^{a}(t,x)| \leq B_{2}$ $(t_{0} \leq t \leq T, -\infty < x < \infty)$ (2.3)

where B, and B, are absolute constants.

(3) There exists a function a(t,x)of t, x (t, $\leq t \leq T$, $-\infty < x < \infty$) and satisfies

(3.1)
$$\lim_{t'\to t} \int f(t,z;t', d_{S}(t,z) = a(t,z), t' \to t' \to t' = 1$$

(3.2) $|a(t, x) - a(t, y)| \leq c_1 |x-y|$ and

$$(3.3) \quad |a(t,x)| \leq c_2 \quad (t_2 \leq t \leq T - \infty < x < \infty)$$

where C, and C, are absolute con-Under the above assumptions (1), stants. (2) and (3) we can conclude

$$\left\{\int e^{i\mathbf{Z}_{y}^{*}} P(\mathbf{t}_{y}\mathbf{x};\mathbf{T},dy_{y})\right\}^{\frac{1}{T-t_{o}}}$$

→
$$M_{PL}$$
 :2 $\alpha(t_0, x) - \frac{x^2}{2}\sigma^2(t_0, x) + \int_{1|\xi|>1} (e^{ix\xi} - L)P(t_0, x, d\xi_0, x)$
+ $\int_{1|\xi|>0} \frac{(e^{ix\xi} - 1 - iz\xi)}{\xi^2} P(t_0, x, d\xi_0, x)$]

<u>\$3</u>. <u>Proof of Theorem</u>. It will be mecuted through the five steps.

1. For any t < t' ($t_* \leq t < t' \leq T$) and for any real x, we have.

$$\begin{cases} \int_{-\infty}^{\infty} e^{iz\frac{\pi}{2}\frac{\pi}{2}} P(e_{y,z}; t', dg(t)x) - 1 \end{cases}$$

= $\frac{1}{t'-t} \left\{ \int_{|\frac{\pi}{2}|>1} (e^{iz\frac{\pi}{2}} - 1) P(e_{y,z}; t', dg(t)x) \right\}$
+ $\frac{1}{t'-t} \left\{ \int \frac{(e^{iz\frac{\pi}{2}} - 1 - iz\frac{\pi}{2})}{12(iz)} d\int u^{2} P(e_{y,z}; t', du(t)x)$
+ $\frac{iz}{t'-t} \left\{ \int \frac{(e^{iz\frac{\pi}{2}} - 1 - iz\frac{\pi}{2})}{12(iz)} d\int u^{2} P(e_{y,z}; t', du(t)x) \right\}$
+ $\frac{iz}{t'-t} \left\{ \int \frac{(e^{iz\frac{\pi}{2}} - 1 - iz\frac{\pi}{2})}{12(iz)} d\int u^{2} P(e_{y,z}; t', du(t)x) \right\}$
+ $\frac{iz}{t'-t} \left\{ \int \frac{(e^{iz\frac{\pi}{2}} - 1 - iz\frac{\pi}{2})}{12(iz)} P(e_{y,z}; t', du(t)x) \right\}$
re $|\frac{i}{t'-t} \left\{ \int_{\frac{1}{12} \le \frac{\pi}{2}} (e^{iz\frac{\pi}{2}} + e^{i\frac{\pi}{2}\frac{\pi}{2}} + e^{i\frac{\pi}{2}\frac{\pi}{2}} + e^{i\frac{\pi}{2}\frac{\pi}{2}} + e^{i\frac{\pi}{2}\frac{\pi}{2}\frac{\pi}{2}} + e^{i\frac{\pi}{2}\frac{\pi}{2}\frac{\pi}{2}\frac{\pi}{2}} + e^{i\frac{\pi}{2}\frac{\pi}{2}\frac{\pi}{2}\frac{\pi}{2}} + e^{i\frac{\pi}{2}\frac{\pi}{2}\frac{\pi}{2}\frac{\pi}{2}\frac{\pi}{2}} + e^{i\frac{\pi}{2}\frac{\pi}{2}\frac{\pi}{2}\frac{\pi}{2}\frac{\pi}{2}} + e^{i\frac{\pi}{2}\frac{\pi}{2}\frac{\pi}{2}\frac{\pi}{2}\frac{\pi}{2}\frac{\pi}{2}} + e^{i\frac{\pi}{2}\frac{\pi}{2}\frac{\pi}{2}\frac{\pi}{2}\frac{\pi}{2}} + e^{i\frac{\pi}{2}\frac{\pi}{2}\frac{\pi}{2}\frac{\pi}{2}\frac{\pi}{2}} + e^{i\frac{\pi}{2}\frac{\pi}{2}\frac{\pi}{2}\frac{\pi}{2}\frac{\pi}{2}} + e^{i\frac{\pi}{2}\frac{\pi}{2}\frac{\pi}{2}\frac{\pi}{2}\frac{\pi}{2}} + e^{i\frac{\pi}{2}\frac{\pi}{2}\frac{\pi}{2}\frac{\pi}{2}\frac{\pi}{2}} + e^{i\frac{\pi}{2}\frac{\pi}{2}\frac{\pi}{2}\frac{\pi}{2}} + e^{i\frac{\pi}{2}\frac{\pi}{2}\frac{\pi}{2}\frac{\pi}{2}} + e^{i\frac{\pi}{2}\frac{\pi}{2}\frac{\pi}{2}\frac{\pi}{2}} + e^{i\frac{\pi}{2}\frac{\pi}{2}\frac{\pi}{2}\frac{\pi}{2}} + e^{i\frac{\pi}{2}\frac{\pi}{2}\frac{\pi}{2}\frac{\pi}{2}} + e^{i\frac{\pi}{2}\frac{\pi}{2}\frac{\pi}{2}\frac{\pi}{2}} + e^{i\frac{\pi}{2}\frac{\pi}{2}\frac{\pi}{2}} + e^{i\frac{\pi}{2}\frac{\pi}{2}\frac{\pi}{2}\frac{\pi}{2}} + e^{i\frac{\pi}{2}\frac{\pi}{2}\frac{\pi}{2}\frac{\pi}{2}} + e^{i\frac{\pi}{2}\frac{\pi}{2}\frac{\pi}{2}\frac{\pi}{2}} + e^{i\frac{\pi}{2}\frac{\pi}{2}\frac{\pi}{2}} + e^{i\frac{\pi}{2}\frac{\pi}{2}\frac{\pi}{2}} + e^{i\frac{\pi}{2}\frac{\pi}{2}\frac{\pi}{2}} + e^{i\frac{\pi}{2}\frac{\pi}{2}\frac{\pi}{2}\frac{\pi}{2}} + e^{i\frac{\pi}{2}\frac{\pi}{2}\frac{\pi}{2}} + e^{i\frac{\pi}{2}\frac{\pi}{2}\frac{\pi}{2}} + e^{i\frac{\pi}{2}\frac{\pi}{2}\frac{\pi}{2}} + e^{i\frac{\pi}{2}\frac{\pi}{2}\frac{\pi}{2}} + e^{i\frac{\pi}{2}\frac{\pi}{2}\frac{\pi}{2}} + e^{i\frac{\pi}{2}\frac{\pi}{2}\frac{\pi}{2}} + e^{i\frac{\pi}{2}\frac{\pi}{2}} + e^{i\frac{\pi}{2}\frac{\pi}{2}\frac{\pi}{2}} + e^{i\frac{\pi}{2}\frac{\pi}{2}\frac{\pi}{2}} + e^{i\frac{\pi}{2}\frac{\pi}{2}} + e^{i\frac{\pi}{2}\frac{\pi}{2}} + e^{i\frac{\pi}{2}\frac{\pi}{2}} + e^{i\frac{\pi}{2}\frac{\pi}{2}\frac{\pi}{2}} + e^{i\frac{\pi}{2}\frac{\pi}{2}\frac{\pi}{2}} + e^{i\frac{\pi}{2}\frac{\pi}{2}} + e^{i\frac{\pi}{2}\frac{\pi}{2}\frac{\pi}{2}} + e^{i\frac{\pi}{2}\frac{\pi}{2}} + e^{i\frac{\pi}{2}\frac{$

where $|f| \le 1$. Now, let $t' \to t$ and let $\mathcal{T} \to 0$, then we have, applying the assumptions (1.2), (2.1) and (3.1)

$$\begin{array}{c}
\underbrace{\lim_{t \to t} \frac{1}{t' - t} \left\{ \int_{-\infty}^{\infty} e^{i x \cdot \xi} P(\xi, x; t', d\xi(t), x) - 1 \right\} \\
\underbrace{(4)} = \int_{|\xi| > 1} (e^{i 2 \xi} - 1) h(\xi, x, d\xi(t), x) + \int_{|2|\xi| > 0} \frac{(e^{i 2 \xi} - 1 - i x \cdot \xi)}{\xi^{2}} h(\xi, x, d\xi(t), x) \\
\end{array}$$

Hence for any real x, y

$$\begin{aligned} \left| \underbrace{\lim_{k \to 0} \frac{1}{k' - k} \left\{ \int_{-\infty}^{\infty} e^{i2\xi} \hat{P}(t, x; t', d\xi \Theta x) - \int_{-\infty}^{\infty} e^{i2\xi} \hat{P}'(t; y; t', d\xi \Theta y) \right\} \right| \\ &\leq 2 \int_{|\xi| > 1} \left| \hat{P}(t, x, d\xi \Theta x) - \hat{P}(t, y, d\xi \Theta y) \right| \\ &+ \frac{\pi^{20}}{2} \int_{|\xi| > 0} \left| \hat{P}(t; x, d\xi \Theta x) - \hat{P}(t; y, d\xi \Theta y) \right| \\ &+ |z| \left| a(t; x) - a(t; y) \right| + \frac{\pi^{2}}{2} \left| \sigma^{2}(t; x) - \sigma^{2}(t; y) \right| \\ &\leq \left(2 + \frac{\pi^{2}}{2} \right) \int_{|\xi| > 0} \left| \hat{P}(t; x, d\xi \Theta x) - \hat{P}(t; y, d\xi \Theta y) \right| \\ &+ |z| \left| a(t; x) - a(t; y) \right| + \frac{\pi^{2}}{2} \left| \sigma^{2}(t; x) - \sigma^{2}(t; y) \right| \\ &\leq \left(2 + \frac{\pi^{2}}{2} \right) \int_{|\xi| > 0} \left| \hat{P}(t; x, d\xi \Theta x) - \hat{P}(t; y, d\xi \Theta y) \right| \\ &+ |z| \left| a(t; x) - a(t; y) \right| + \frac{\pi^{2}}{2} \left| \sigma^{2}(t; x) - \sigma^{2}(t; y) \right| \end{aligned}$$

iow by (1.3), (2.2) and (3.2)

$$\begin{aligned} \left| \lim_{t \to t} \left\{ \int_{-\infty}^{\infty} e^{i2\xi} \left(P(\xi_{x}; t', d\xi \psi_{x}) - P(\xi_{y}; t', d\xi \psi_{y}) \right) \right\} \right| \\ \leq \left(2 + \frac{2^{3}}{2} \right) A_{2} \left| x - y \right| + \left| z \right| G \left| x - y \right| + \frac{2^{2}}{2} B_{1} \left| x - y \right| \\ \equiv D_{1} \left| x - y \right|, \end{aligned}$$
ere

where

$$P_{1} \equiv (2 + \frac{z^{2}}{2}) A_{2} + |z| C_{1} + \frac{z^{2}}{2} B_{1}$$

Hence we get the following relation

(5)
$$\int_{-\infty}^{\infty} e^{ix\xi} \mathcal{P}(t,x; t', d\xi(t),x) - \int_{-\infty}^{\infty} e^{ix\xi} \mathcal{P}(t,y; t', d\xi(t),y) d\xi(t',y) d$$

2. By (4), we have

$$\begin{cases} \int_{-\infty}^{\infty} e^{i2\frac{t}{2}\frac{t}{2}} P(t, x j t', d_{\frac{t}{2}}(t, x) - 1 \\ = (t'-t) \left\{ \int_{|\frac{t}{2}|>1} (e^{i2\frac{t}{2}} - 1) P(t, x, d_{\frac{t}{2}}(t, x)) \\ + \int_{|\frac{t}{2}|>0} \frac{(e^{i2\frac{t}{2}} - 1 - i2\frac{t}{2})}{\frac{t^2}{2}} P(t, x, d_{\frac{t}{2}}(t, x)) \\ + i2a(t, x) - \frac{2^2}{2}\sigma^2(t, x) \right\} + o(t'-t), \quad (t' \to t). \end{cases}$$

Hence

$$(7) \qquad \left| \int_{-\infty}^{\infty} e^{iz\xi} P(t, x) t' d\xi (t) z - 1 \right| \\ \leq |t'-t| \left\{ (2 + \frac{2^3}{2}) M(t, x) + |z| |a(t, x)| + \frac{z^2}{2} \sigma^2(t, x) \right\} \\ + \circ (t'-t) \\ \leq |t'-t| \left\{ (2 + \frac{x^2}{2}) A_1 + |z| c_2 + \frac{z^2}{2} B_2 \right\} + \circ (t'-t) \\ \equiv |t'-t| D_2 + \circ (t'-t) \qquad (t' \to t)$$

where

$$P_2 \equiv (2 + \frac{z^2}{2}) A_1 + |z| c_2 + \frac{z^2}{2} B_2$$

3. Next divide the time interval [t., T] into n subintervals $t_{0} < t_{1} < t_{2} < \cdots < t_{n} = T$ and put $t_{n+1} - t_{n} = 4 t_{n}$ (k = 0,1, ..., n-1). Then by Smoluchowski-Chapman s equation we have

$$P(t_0, x; t_{R+1}, d\xi) = \int_{-\infty}^{\infty} P(t_0, x; t_{R}, dy) P(t_0, \xi; t_{R}, d\xi)$$

Hence
(8)
$$\int_{-\infty}^{\infty} e^{iz(\frac{e}{2}-2)} P(t_{0},z; t_{0}, d_{0}) = \int_{-\infty}^{\infty} e^{iz(\frac{e}{2}-2)} \int_{-\infty}^{\infty} P(t_{0},z; t_{0}, d_{0}) P(t_{2}, y; t_{0}, d_{0}) = \int_{-\infty}^{\infty} e^{iz(\frac{e}{2}-2)} \int_{-\infty}^{\infty} P(t_{0},z; t_{0}, d_{0}) P(t_{1}, z; t_{0}, d_{0}) = \int_{-\infty}^{\infty} e^{iz(\frac{e}{2}-2)} P(t_{0},z; t_{0}, d_{0}) P(t_{1}, z; t_{0}, d_{0}) P(t_{1}, z; t_{0}, d_{0}) = \int_{-\infty}^{\infty} e^{iz(\frac{e}{2}-2)} P(t_{0},z; t_{0}, d_{0}) P(t_{1}, z; t_{0}$$

$$\int_{-\infty}^{\infty} (t_{\text{RH}}, z) = \int_{-\infty}^{\infty} t^{2} (t_{j} - z) P(t_{j}, z; t_{\text{RH}}, d_{j}) = \int_{-\infty}^{\infty} t^{2} P(t_{ij}, z; t_{\text{RH}}, d_{j}) d_{j} d_{j} d_{j} d_{j}, d_{j} d_{$$

Therefore from (8)

$$f(t_{R+1},z) = \int_{-\infty}^{\infty} e^{zzy} g(t_{R+1}, y+z) P(t_0,z; t_0, y+z),$$

Now for $T \rightarrow t_o$ by (5), (7), (1.2) and (2.1), we see

$$\begin{split} \| f(t_{R+L}, x) - f(t_{R}, x)g(t_{R+I}, x) \| \\ &= \| \int_{-\infty}^{\infty} e^{2xg} \left\{ g(t_{R+I}, f+x) - g(t_{R+I}, x) \right\} L^{2}(t_{R}, z) t_{R} dg(\theta) x) \right\} \\ &\leq \int_{1}^{\infty} \left\{ \| g(t_{R+L}, f+x) - L \| + \| g(t_{R+I}, x) - L \| \right\} \\ &\times P(t_{0}, x) t_{R}, dg(\theta) x) + \left\{ \int_{1}^{\infty} \| g(t_{R+I}, f+x) - g(t_{R+I}, x) \|^{2} \\ &\times P(t_{0}, x) t_{R}, dg(\theta) x) + \left\{ \int_{1}^{0} \| g(t_{R+I}, f+x) - g(t_{R+I}, x) \|^{2} \\ &\times P(t_{0}, x) t_{R}, dg(\theta) x) + \left\{ \int_{1}^{0} \| g(t_{R+I}, f+x) - g(t_{R+I}, x) \|^{2} \\ &\leq \Delta t_{R} \left[2D_{x} \int_{1}^{0} P(t_{0}, x) t_{R} dg(\theta) x) \right\} \frac{d}{x} \\ &\leq \Delta t_{R} \left[2D_{x} \int_{1}^{0} P(t_{0}, x) t_{R} dg(\theta) x) \right\} \frac{d}{x} \\ &+ D_{i} \left\{ \int_{1}^{0} \int_{1}^{2} P(t_{0}, x) t_{R} dg(\theta) x) \right\} \frac{d}{x} \right\} + o(\Delta t_{R}) \\ &\leq (t_{R} - t_{0}) \Delta t_{R} 2D_{x} \int_{1}^{0} P(t_{0}, x, d_{1}(\theta) x) + (t_{n} - t_{0}) \frac{d}{\Delta t_{R}} D_{1} \\ &\leq (t_{R} - t_{0}) \frac{d}{x} dg(\theta) x) \right\} \frac{d}{x} + (t_{R} - t_{0}) \frac{d}{x} dg(t_{0}, x) + o(\Delta t_{R}) \\ &\leq (t_{R} - t_{0}) \frac{d}{x} dt_{R} \left\{ (2D_{R} + D) M(t_{0}, x) + B \delta'(t_{0}, x) \right\} + o(\Delta t_{R}) \\ &\leq (t_{R} - t_{0}) \frac{d}{x} dt_{R} \left\{ (2D_{R} + D) M(t_{0}, x) + B \delta'(t_{0}, x) \right\} + o(\Delta t_{R}) \\ &\leq (t_{R} - t_{0}) \frac{d}{x} dt_{R} \left\{ (2D_{R} + D) M(t_{0}, x) + B \delta'(t_{0}, x) \right\} + o(\Delta t_{R}) \\ &= (t_{R} - t_{0}) \frac{d}{x} dt_{R} D_{3} + o(\Delta t_{R}), \end{split}$$

nere

$$\mathbf{P}_3 \equiv (\mathbf{P}_2 + \mathbf{P}_1) \mathbf{A}_1 + \mathbf{P}_1 \mathbf{B}_2$$

(, thus we have

$$(9) | f(t_{R+1}, x) - f(t_{R}, x)g(t_{R+1}, x)|$$

$$\leq (t_R - t_0)^{\frac{1}{2}} a t_R D_3 + o(a t_R),$$

$$(T \to t_0, 1, \dots, n-1, (T \to t_0))$$

4. By (9), paying attention to $g(t_{1,x}) = f(t_{1,x}) - g(t_{1,x}) - g(t_{1,x}) = f(t_{1,x}) - g(t_{1,x}) - g(t_{1,x})$

$$\begin{array}{l} 0) & |f(t_{n}, x) - g(t_{1}, x)g(t_{2}, x) \cdots g(t_{n}, x)] \\ \leq & |f(t_{n}, x) - f(t_{n-1}, x)g(t_{n}, x)| + |f(t_{n-2}, x)g(t_{n}, x)g(t_{n}, x)] \\ & - f(t_{n-2}, x)g(t_{n-1}, x)g(t_{n-1}, x)g(t_{n-2}, x)g(t$$

5. In this step, we shall calculate the product

$$g(t_{i}, x) g(t_{i}, x) \cdots g(t_{n}, x)$$

By (6) and the expansion of log., we see

$$\begin{split} &|\sum_{R=1}^{n} \log g(t_{R}, x) - \sum_{R=1}^{n} (g(t_{R}, x) - 1)| \\ &\leq \sum_{R=1}^{n} |g(t_{R}, x) - 1|^{2} \\ &\leq \sum_{R=1}^{n} \{ (at_{R})^{2} U_{x}^{2} + o (at_{R})^{2} \} \\ &\leq \max_{R=1}^{n} \{ (at_{R})^{2} U_{x}^{2} + o (t_{R})^{2} \} \\ &\leq \max_{1 \leq k \leq n} (T - t_{0}) Q_{x}^{2} + o (T - t_{0}) \} \\ &= o (T - t_{0}), \quad (T \to t_{0}), \end{split}$$

50

uniformly for any finite interval of z. Now, from (6) we have

$$\sum_{R=1}^{m} (s(t_{R_{y}} x) - 1) = \sum_{R=1}^{m} \Delta t_{R} \iint (e^{ixt_{y}} - 1) + (t_{R_{y}} x) d_{R} i_{R} i_{$$

uniformly for any finite interval of s. Hence

$$(11) \left\{ \sum_{k=1}^{\infty} \frac{A_{p}}{p} g\left(t_{k}, x\right) - \sum_{k=1}^{\infty} at_{n} \left\{ \int \left(e^{22f} - 1\right) \left| e(t_{k}, x, dy_{0}) \right| \right. \right. \right. \\ \left. + \int \frac{(e^{12f} - 1 - 12f)}{f^{2}} \left| e(t_{k}, x, d_{y}(t) \times 1) \right. \\ \left. + \frac{1}{2} \left| \frac{(e^{12f} - 1 - 12f)}{f^{2}} \right| e(t_{k}, x, d_{y}(t) \times 1) \right. \\ \left. + \frac{1}{2} \left| \frac{1}{2} \left| \frac{1}{2} \right| \right| > 0 \right] \left(\frac{1}{2} \left| \frac{1}{2} \right| - \frac{1}{2} \left| \frac{1}{2} \right| = 0 \right] \left(\frac{1}{2} \left| \frac{1}{2} \right| - \frac{1}{2} \left| \frac{1}{2} \right| = 0 \right] \left(\frac{1}{2} \left| \frac{1}{2} \right| - \frac{1}{2} \left| \frac{1}{2} \right| = 0 \right] \left(\frac{1}{2} \left| \frac{1}{2} \right| - \frac{1}{2} \left| \frac{1}{2} \right| = 0 \right] \left(\frac{1}{2} \left| \frac{1}{2} \right| - \frac{1}{2} \left| \frac{1}{2} \right| = 0 \right] \left(\frac{1}{2} \left| \frac{1}{2} \right| - \frac{1}{2} \left| \frac{1}{2} \right| = 0 \right] \left(\frac{1}{2} \left| \frac{1}{2} \right| - \frac{1}{2} \left| \frac{1}{2} \right| = 0 \right] \left(\frac{1}{2} \left| \frac{1}{2} \right| - \frac{1}{2} \left| \frac{1}{2} \right| = 0 \right] \left(\frac{1}{2} \left| \frac{1}{2} \right| - \frac{1}{2} \left| \frac{1}{2} \right| = 0 \right] \left(\frac{1}{2} \left| \frac{1}{2} \right| - \frac{1}{2} \left| \frac{1}{2} \right| = 0 \right] \left(\frac{1}{2} \left| \frac{1}{2} \right| - \frac{1}{2} \left| \frac{1}{2} \right| = 0 \right] \left(\frac{1}{2} \left| \frac{1}{2} \right| - \frac{1}{2} \left| \frac{1}{2} \right| = 0 \right] \left(\frac{1}{2} \left| \frac{1}{2} \right| - \frac{1}{2} \left| \frac{1}{2} \right| = 0 \right] \left(\frac{1}{2} \left| \frac{1}{2} \left| \frac{1}{2} \right| = 0 \right] \left(\frac{1}{2} \left| \frac{1}{2} \right| = 0 \right] \left(\frac{1}{2} \left| \frac{1}{2} \left| \frac{1}{2} \right| = 0 \right] \left(\frac{1}{2} \left| \frac{1}{2} \left| \frac{1}{2} \right| \frac{1}{2} \left| \frac{1}{2} \left| \frac{1}{2} \left| \frac{1}{2} \right| \frac{1}{2} \left| \frac{1}{2}$$

$$\leq \bullet(\tau - t_{s})$$
, $(\tau \rightarrow t_{s})$

in the same sense as above.

6. Thus, from (10) and (11) we can conclude

$$\begin{aligned} \left| f(t_{n}, x) - at \phi \left[\sum_{R=1}^{\infty} dt_{n} \left\{ \int_{1}^{\infty} (e^{i x \xi} - 1) \phi(t_{n}, x, dy \cos x) + \int_{1}^{\infty} \frac{(e^{i 2 \xi} - 1 - i 2 \xi)}{y^{\alpha}} \phi(t_{n}, x, dy \sin x) + \int_{1}^{\infty} \frac{(e^{i 2 \xi} - 1 - i 2 \xi)}{y^{\alpha}} \phi(t_{n}, x, dy \sin x) + i 2 a(t_{n}, x) - \frac{x^{\alpha}}{2} \sigma^{2}(t_{n}, x) \right] \end{aligned}$$

 $\leq \bullet (T-t_o), \quad (T \rightarrow t_o)$ uniformly for any finite interval of z. Hence let $\max_{k \neq a} A t_k \rightarrow 0$, then paying

attention to $t_n = T$, we get

....

$$f(T, x) = \operatorname{orb}\left[\int_{t_{0}}^{T} dt \left\{\int_{t_{0}}^{t} (e^{i2t_{0}}-1)\phi(t, x, dy(t)x)\right.\right.$$

+
$$\int \frac{(e^{2xy} - 1 - iZ\xi)}{\int^{2}} p(\xi x_{j} d\xi dx) + iZa(\xi x)$$

- $iZ |\xi| > 0$
- $\frac{2}{2} e^{x^{2}}(\xi, x) \} + o(T - t_{0}),$
(T - t_{0})

in the same sende as above, or

$$\begin{cases} f(T, x) \end{cases}^{\frac{1}{T-\xi_{0}}} = \exp\left[\frac{1}{T-\xi_{0}}\int_{-\frac{1}{2}}^{T-\xi_{0}}\int_{-\frac{1}{2}}^{T-\xi_{0}}\int_{-\frac{1}{2}}^{T-\xi_{0}}\int_{-\frac{1}{2}}^{T-\xi_{0}}\int_{-\frac{1}{2}}^{T-\xi_{0}}\frac{f(t, x)}{f(t, x)} + \int_{-\frac{1}{2}}\frac{(e^{1xf}-1-2xf)}{f^{2}}p(t, x) df(0,x) + i2\alpha(t, x) \\ = \frac{1}{2}[f(t, x)] + o(T-\xi_{0}), (T \to \xi_{0}) \end{cases}$$

in the same sense as above. Hence

$$\begin{aligned} &\lim_{T \to T_{0}} \left\{ f(T, x) \right\}^{\frac{1}{T-t_{0}}} = ar(p \left\{ \int (e^{\frac{t \times f_{0}}{2}} - \lambda) p(t_{0}, x, df(0) x) \right. \\ &+ \int \frac{(e^{\frac{t \times f_{0}}{2}} - 1 - \frac{t \times f_{0}}{2})}{f^{2}} \left[p(t_{0}, x, df(0) x) \right. \\ &+ \left\{ \frac{1}{2} \left[t_{0} \right] > 0 \right\}^{\frac{1}{2}} \left[p(t_{0}, x, df(0) x) \right] \right\} \end{aligned}$$

in the same sense as above, which shows the required relation.

4. Special cases. If in Theorem

$$\int |\phi(t, x, dy(x)) = 0, \quad (t_0 \leq t \leq T, -\infty \langle x \langle \infty \rangle)$$

we have the continuous case. That is,

Theorem If for any 7> and for any fixed t and x

$$\int_{t=t}^{t} \frac{1}{t'-t} \int_{|z| \leq 1}^{t} P(\xi,z;t',d\xi(0,z) = 0,$$

$$\int_{t=t}^{t} \frac{1}{t'-t} \int_{|z| \leq 1}^{t} \frac{1}{z < 1} \int_{|z| < 1}^{z} P(\xi,z;t',d\xi(0,z) = 0,$$

And further, if the condition (2) and (3) in theorem of § 2 are satisfied, we can conclude

$$\lim_{T \to t_0} \left\{ f(T, x) \right\}^{\frac{1}{T-t_0}} = \exp\left[i2a(t_0, x) - \frac{2^k}{2} \delta^2(t_0, x)\right]$$

uniformly for any finite interval of z.

Next, if in Theorem of § 2,

 $\sigma^{2}(\xi x) \equiv 0, \quad (\xi \leq t \leq T, -\infty \langle x < \omega \rangle),$

we have the purely discontinuous case. That is,

<u>Theorem.</u> If in addition to the condition (1) and (3) in theorem the following condition

$$\lim_{\epsilon \to 0} \lim_{t \to t} \frac{1}{t' - t} \int_{|\xi| \le \epsilon} g^2 P(\xi, x; t', d_{\xi}(t) x) = 0$$

is satisfied, then we have

$$\int \sin \left\{ f(T, x) \right\}^{\frac{1}{T-t_0}} = \exp \left\{ i Z a(t_0, x) + \int (e^{i Z \frac{t_0}{2}} 1) \phi(t_0, x, d_0^{-1} \theta) z \right\}$$
$$+ \int \frac{(e^{i Z \frac{t_0}{2}} - 1 - i Z \frac{t_0}{2})}{f^2} \phi(t_0, x, d_0^{-1} \theta) z$$

uniformly for any finite interval of z.

(*) Received June 27, 1949.

- 1) A.Kolmogoroff, Analytische Methoden der Wahrscheinlichkeitsrechnung, Math. Ann. 104, 1931.
- Math. Ann. 104, 1931. 2) A.Khintchine, Asymptotische Gesetze der Wahrscheinlichkeitsrechnung, Leipzig, 1937.
- W.Feller, Zur Theorie der stochastischen Prozess. (Existenz und Eindeutigkeit), Math. Ann., 113, 1936.
- 4) J.L.Doob, The Brownien movement and stochastic equations, Ann. Math., 43, 1942.
- 5) W.Feller, On the purely discontinuous Markoff processes, Trans. Amer. Math. Soc., 48, 1940.
- Math. Soc., 48, 1940.
 6) K. Ito, Stochastic processes II, it will be appear in the Jap. Jour. Math..
- 7) Binx & denotes the set{e+x} of points e+x (ef E).

Tokyo Institute of Technology.